New-Era.

@ Home Page Address
http://www.newera.co.jp/en/pneumatic/index.html
@ E-mail Address

pneumatic @ newera.co.jp

Compact Vacuum Cylinder

V001 &8 *
serles @ RoHS Compliant
v

(Standard Type)

Compact!!

Thickness of
Main Body 7mm
the adapter for

pad mounting v c 0 2 Series

when using. (Non-rotating Accuracy
Improving Type)

Main Features | [Pad/Adapter Mounting Port] ' Body Mounting Hole ' I Vacuum Port I
- (Not included) M3x0.5
Thickness of =~ =
Main Body 7mm L o & Y
E=t

Thin and compact
vacuum cylinder

l Buffer Mechanism

Protects workpiece
from shock

I Standard Specification

of NCU (Non-ion) !_m

% Some components are
nickel plated

Please prepare

Adapter for Mountmg

New-Era. Ess?

UC02-5-ND-10

MADE M JAPAN

O

VCO02 Series 10 Stroke Actual Size

CAT NO. VC02 17-12



Model Code No.

-~ “, (Standard Type)

(Non-rotating Accuracy

_@_

D] -

[10)

| ing Ty
mproving Type) Note: Position detection
switch can not be
ted.
‘ Series Name ‘ Bore Size Action Type Stroke mounte
5:¢5 ND: Double Acting | | 10: 10mm
20 :20mm

Internal Structure Drawing

[No. Name Material
1 |Body Aluminum Alloy
2 | Rod Cover Aluminum Alloy
3 | Piston Rod Stainless Steel
4 |Plate Aluminum Alloy
5 | Guide Rod Stainless Steel
6 | Spring Stainless Steel
7 | E-ring Stainless Steel
8 | Hevagon Socket Head Set Serew| Stainless Steel
9 |[O-ring NBR
10 [ O-ring NBR
\'I 1 | Socket Copper Alloy (Nicke! P\ating])
VCO02
(No. Name Material
1 |Body Aluminum Alloy
19 4 %@ 2 |Rod Cover Aluminum Alloy
3 | Piston Rod Stainless Steel
S WTESETO 4 [plate Auminum Aloy
- o - ; l \ \\ /(TH 5 | Guide Rod Stainless Steel
Qlﬂ[—— 3 \ 6 |Spring Stainless Steel
fH—- i - I t L - 7 |E-ring Stainless Steel
@”ﬂ T i 8 |[O-ring NBR
I I‘ 9 [ O-ring NBR
\1 O | Socket Copper Alloy (Nicke! P\al'n%




“001 Series & ,'42
L)
[ ]
&
44

————— Specifications
(" Model VCO1-5-ND-St | VCO2-5-ND-St )

Action Type Double Acting

Bore Size [mm] »5

Stroke [mm] 10. 20

Fluid Air

Operating Pressure Range [MPa] 0.3~0.7 0.35~0.7

Proof Pressure [MPa] 1.05

Operating Temperature Range " "[°C] 0~60 (No Freezing)

Operating Speed Range "2  [mm/sec] 50~300 100~300

Non-rotating Accuracy [°] +25 +0.9

Maximum Buffer Stroke [mm] 3 Noed

At Not Operating [N] 0.9
Buffer Spring Force
At Stroke End [N] 1.8

Pipe Bore M3x0.5

Cushioning None

Lubrication Not required Not required

Product Mass (ql 108t : 22 10St: 30
L 20st: 27 20St : 38 )

Note 1) Please control the speed at lower than 300 [mm/sec].Otherwise it may cause damage.

Note 2) When piston rod is pulled.

Note 3) Buffer stroke must be operated at less than 3mm. Otherwise it may cause damage.

Note) Do not apply rotational torque to both of the piston rods. In unavoidable circumstances, the torque should be 0.02 [N * m] or less.

Note) When screwing the joint to the vacuum port and female thread part at the rod end, fix the socket and tighten with the recommended tightening torque of 0.7 [N+ m].

Note) When fixing the main body with M3 screw hole, use the recommended tightening torque 0.7 [N < m]. At this time, the screwing
amount of the bolt shall be less than 4 [mm]. Otherwise it may cause trouble in operation.



Dimensions

“c 01 Series

VCO

-ND-10

o
<
Q|
[0}
£
»2+3%2 Depth 2 2 .05 2-M3x0.5 Depth 4
1 <
[
o i o TR T T I e I S e
{TeRro S =o T3
35 14 ~
22 14

M3x0.5 (Pad Mounting Port) 2x2—M3x0.5 (Through-hole)

#1.5 (Through-hole) 2-¢2.8 M3x0.5 (Vacuum Piping Port)
) © 12 (Through-hole) 10| 0
o 1 C\J Il 1 Il Il “ « Il O
T T T )
~ & TR s [ ©
s =t hid |
— I — = - B B 9|
« T | o &f 2 @ © by
G i =5~
B} © | 1 g [ &
sl 2-M3x0.5 3)35
3 (Buffer Stroke) L8 14 8 _|(Air Port)
6 9 4 30 115 9 6
755
VCO1 20 o
Ny
Q
8
o
92'6% Depth 2 8| .05 2-M3x05Depth4
a
ol of ] |\$ i — r{/ _ | - — ol @
@ DA A | &
3.5 14 ~
22 14

M3x0.5 (Pad Mounting Port)

2x2-M3x0.5 (Through-hole)

1.5 (Through-hole)

2—¢2.8 (Through-hole)

M3x0.5 (Vacuum Piping Port)

0 12 0 I15)
d Il um) Il Il N o Il O
| |
T AT Q
~ -~ & TR s [ 6
) o — i _ _ — N e )
o — | S— o
— @ Q| ©f 7 oo ~ © T —
\ fl al — - — [\
_ _ = R
& +——+
" ¢ - 3 [
H I s
sl 2-M3x0.5 335
3 (Buffer Stroke) L8 24 (Air Port)
6 9 14 40 21.5 9 6
95.5




= @ @
“002 Series

a1}
ey
3
J9)
a)
a
#2+89 Depth 2 S| .05 2-M3x05 Depth4
o
mImi | T A pran | UﬁmI
©| 10 | 1 Y | ] [ Jwvs
=850 14 ]
22 14
M3x0.5 (Pad Mounting Port) 2x2-M3x0.5 (Through-hole)
¢1.5 (Through-hole) 2—¢2.8 (Through-hole) M3x0.5 (Vacuum Piping Port)
0 0 12 0 To)
o Qi o] Qi S
v TH R Vi L) 2 — i
~ © 1y 0L &
— © — | . — (o]
gl |
cEpdEEE @ o -
G
@ = . - B
~ (R 1l (2]
Ly L B _
S8l 2-M3x0.5 3]35
3 (Buffer Stroke) 8 14 8 _|(Air Port)
6 9 4 30 12 9 6
76
'VC02-5-ND-20 | .
ey
a
o)
g
»2"5%*Depth 2 So| ,, 0.5  2-M3x05 Depth 4
a
mH [ || N e [ _ | I ||Lo_r0_1
©| 16 | | | [ Twvys
35 14 ~
22 14
M3x0.5 (Pad Mounting Port) 2x2—M3x0.5 (Through-hole)
¢ 1.5 (Through-hole) 2—p2.8 (Through-hole) M3x0.5 (Vacuum Piping Port)
0 0 12 10 10
(] [oY] o Y] (@]
T T AT 2 = i
~ &S TP
= —==9]
— © - L — — — ©
B, B
9 LAl & 2 2 © &
P Ve 3 E | - B N
. % LD it g @
REN 2-M3x0.5 3Jas
3 (Buffer Stroke) 8 24 8 (Air Port)
6 9 |4 40 22 9 6
96




= Precautions for Use

@Be sure to control the speed at 300 [mm/sec] or less with the speed controller.
Otherwise it may cause damage.

@ Do not apply rotational torque to both of the piston rods.
In unavoidable circumstances, the torque should be 0.02
[Nem] or less.

0.02 [N*m]orless

@\When screwing a joint etc. into the vacuum
port and the female thread part at the rod end,
fix the socket so that no excessive force is
applied to the rod.

Recommended tightening torque : 0.7 [N-m]

@ When fixing the main body, use the recommended
tightening torque 0.7 [N *m].
At this time, the screwing amount of the bolt shall
be less than 4 [mm].
Otherwise it may cause trouble in operation.

Screwing Amount
Less than 4[mm]




Guide to Our Website %

http://www.newera.co.jp/en/pneumatic/index.html

@ Check latest New-Era information including new products.
@ Download CAD data.

@ Request catalogues and information materials.




g Cylinder Theoretical Thrust Table %

When the productis ¢5

Air Pressure [MPa] 0.3 0.4 0.5 0.6

07 )

L Cylinder Thrust [N] 377 5.03 6.28 754

580 |

Because the product adopts double piston rods, the same cylinder thrust is generated during pushing and pulling.

p | A\ Safety Precautions

Please read the following instructions before use.
See also the precautions in the general catalog.

@Do not put your fingers in the gap between the main body and the plate.Be careful never to put your
fingers because your fingers may be pinched between the main body and the plate during operation.

O

with vacuum generator falls off, be sure to take mechanical anti-falling measures for safety.

@|f a dangerous situation may occur in case that a workpiece (sucked object) sucked by the system

Application Example

New-Era.

NeW-EI‘a CO., Ltdo

Main Office:1-7-21, Nakagawa-Higashi, Ikuno-ku, Osaka, 544-0006 Japan
TEL. +81(0) 6 6754-8581 FAX. +81(0)6 6754-3036

Tokyo Office: 1-30-4, Higashi-Magome, Ota-ku, Tokyo, 143-0022 Japan
TEL. +81(0) 3 5875-1038 FAX. +81(0)3 3776-7702

2
B

&

T

U/

A
|

/o f

@Home Page Address
http://www.newera.co.jp/en/pneumatic/index.html
@ E-mail Address

pneumatic@newera.co.jp

@Electric catalogue is also available. In case of need,please contact us.

Y Design and syecifications subject to change without notice. % Copyright © 2008 New-Era Co., Ltd. All rights reserved




